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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
vpurd | Aevd | Aurus | Asl ce e A |
Solid in
Gas in Solid Solid Solidingas | Liquidingas | Opalisanexample of Solution.
SIS | 2
4 3 2 1 '
There are types of electrochemical cell.
(U Sy h s ks LA kST et/ #u HY —— H]O? i | 3
Reducin Oxidizin . = e '
. . 5 < g
kd | | W | OV A i | 4
Golden Brilliant Brilliant . @ .
yellow yellow white Brick redéA e Colour of Sodium flame in air is
i , < , ;
o e ol g@ | e RS S |
Gasoline Ice Cream Rock &ir Which one is an example of hetrogeneous mixture.
Fhagds | $igmtey | S PG Ko Eiets ek AU 6
Protonsand | Neutrdaahd |  Proton and ,
Protons only neutrons electron electron The mass number is the sum of number of
JVL’)U?JU;“’/. ub.:;l_:_éd:"!b/. UFJ.:}F'LS;’WI, U];k{dﬂb/. A7 (j/.l\;Z—L. 7
British British British British
Dentist Physicist Economist Chemist J.J Thomson was a
Pasiy AL | i 2 ~ctnls fhplg | 8
: Alkaline _ , ’ _
Hydrogen Noble gas | earth metals | Alkali metals | First Period started with
CeHg CiH, CaHy CH, _ -c"..dﬁ:Jﬁl_..‘.«-{:;fJ/ &
Example of Triple of Covalent bond is
N aibsf o s 2y T e S nlic 170/ b’&;‘g;}gl&fﬁl»ﬁ .10
) Coordinate ) If the difference of electronegativities between
Metallic Covalent Covalent Tonic Two elements is more than 1.7. The bond is
o s & 2
10523 106075 10325 101325 - LFVE pp S|
One atmospheric pressure is equal to how many Pascals?
VAU Ltz S ot ALt Fhe | a2
Measuring ; . .
All flask Pipette Test Tube | Molar solution are prepared in

7, 933-0924-69000 (3)
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Part I ol
Answer briefly any Five parts from the followings.  5%2=10 /77 ebiz /& Lizmbe $f e tdits 24 iy

What is meant by atomic mass unit (amu)? e e (amu) eyt ()
How will you define mole and write its formula. -g/.j U SBE ;:M:u: /. 4/4 /‘T if Jr‘.,;f Gi)
Who discovered electron and proton? YEC;QLJ:LUI Wag A (Gid)
Write down two defects of Rutherford afomic model. -é Z /2 u‘j ® uLJﬁL_ﬂHSJ}Ju Giv)
Atomic number is a more fundamental property than atomic mass. Justify it. é yw,‘g..-,:/' U3 _L_‘mg)Llf.J Skl / ] )
What do you know about Ionization energy? , uz_(gg.,m"" ZEAFAET (vi)
Which element has highest electronegativity? -c".C'{/Ci;g 3 /'g le)c._.__f.b'J:J Ul (vid)
Why is it difficult to remove an electron from halogens? -c.u:f L)&" g e /6! a2k (viid)
Answer briefly any Five parts from the followings. 5x2=10 ..u’f 47 = ...LL?/‘*’ Ll?lét;é:f auf‘," Jb.u =3 / Jis
Differentiate between duplet rule and octet rule? e 0 e sk 6]
How hydrogen bonding affects physical properties of molecules? teL (}ys‘)lilff d“/ o J.'.'b d/ );:g Ljﬁ@cﬁu,g G
What is meant by polar covalent bond? T s e ke 5. ¢ GiDd
State Boyle’s Law? Write down its mathematical expression? ?LH#M % Ve QPc_l?é Wb bU"U! Giv)
How vapour pressure is affected by nature of liquid? g.t'ﬁ/"'l’l.)’b’a! :’J ét - v 2 )
What is meant by aqueous solution? Give an example? %O e e L f ol /l/:.;j Iy uj £ (vi)
How one molar solution is prepared? < % “al:‘btle« 4{/ o Iy L (vii)

Define concentration? Write down the name of its unit? & "‘i"/ rt Kty Z.J I“é.d Ve J Lf‘ //f (viii)

Answer briefly any Five parts from the followings @ =10 gl feuz Lméu:,é! e tdits Ay
Find out the oxidation number of Nitrogen in HNO é r}” / J’ yfl o) 7 tUSHNO, ®
' S UrGE B D G
et UL L e dusT  Gid

What is the principle of electroplating?
Why is an iron grill painted frequently?

Differentiate between valency and oxidation state. ' “4'_.0/ lfu‘ -t u" y(! J:lu"L = Gw)
Why oxygen is called non metal? °¢dﬂ~( ud utfrl )
Write down two uses of Gold. eyiinl 3 (i)
Why ionization energy of Sodium is greater than that of Potassium S‘z‘;.u:ﬂJ_L.Jc..(-ﬁ LyG ALY Tdésy  (vid)
In period ﬁ'om left to right electropositivity is decreased. Justify. sl ..755:..{314[ & %2 /*.0 u'/b;_u‘ ltx s Cviii)
Part 11 [P
Note: Attempt any Two Questions. 9x2=18 -u’/ 4f = utliﬁumr»cé_f o
5.(a) Write down any five characteristics of a mixture. (5) L feker® é;\t,df i /.,‘r (a) 5
(b) Define covalent bond. Explain its various types with ~ (4) eoland I SuinzEey Fkedsy’ ()
examples. Lyt
6.(a) How are cathode rays produced? W‘hat are their four (s) ?;dg.:«.l,ar"” /gdf 1 “u,?(]bd/l{qc.‘: '/,,u’:;'! (@) 6
major characteristics.
(b)  Describe the phenomenon of diffusion in liquids @) ol )? ngi.n)!if}"l vy L TS (‘jt )
along with the factors which influence it. &
7.(a) What is electrolytic cell? Explain the Working ofan ©) oA el e Ty VI
electrolytic cell along with chemical reactions. oS K PLLS KL ST B 2
(b) Give any four characteristics of Colloids. (4) -z_’-_'uy..z.y,-"' V' AFASOT N ).
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) () (B) (A) QUESTIONS Q-1
o Ao d $or A
BF, NH, H,0 N, . QG%GQL{J/'/'Q'U:J&QLJ( 1
An electron deficient molecule is
&) o s b
152 °C 142°C | . 132°C 122% N BRSPS | 2
Transition temperature of Tin is
f} (}E <A leJTJﬂuU%/ @@ -cw.::’yu""f(u-a’f 3
Sugar Water Salt Carbondioxide | In soft ¢ @lvem is
J.'.? = fbﬁ?.ﬁf.ﬂ J/lgu:d&_ @ -‘Ld(‘/ugfd/):b/ﬂ’( 4
Jell Pai Milk of Chalk i m e of Colloids i
elly aint magnesia water (7,\) n example ot Colloids 1s
< :
@ e AR T 0R, | s
-2 +2 -1 # -
e Oxidation number of oxygen in OF; is
LS | sy | 2T Mﬁ%ﬂ} L Al Aot i | 6
: : Sodiu
Sula;:;lilgnc Cslg)l(i};;gle hydroxide Benzene A non-electrolyte is
Rb K Na Li _g‘.-.J':‘fu‘::g, Aie e | 7
The most electropositive alkali metal is
ZH,80, | LH,80, | LH,S0, L H,50, ~e iy LIEH SO, | g
‘Cf"f” Lrtf% Lr"f% £r'f98 One mole of H,SOy is equal to
92 gof 94 g of 96 g of 98 g of
H,504 H,S04 H,S0, H,S0,
44 amu 44 o 32 amu 32¢g Molecular mass of CO; is vl L/':_:? 6CO, | 9
3140132 714118 51,418 #1492 | LShellcan accommodate 10
32 electrons | 18 electrons | 8 electrons 2 electrons
Chas osrdl ‘ L'ZJ!K J“»f’ *& éf;\ -gu’)’ldlnﬁgd:—ﬁ:/a {ﬁ.—u” 11
Bromine Iodine Chlorine Fluorine Halogen w111ch has the lowest electronegativity is
- L4 ¥ ’
CaCl, KOH NaCl H,S04 o A ffestsf i | 12
A compound which is covalent in nature

/v )/;;//
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Part e > — M(‘)
Answer briefly any Five parts from the followings. 5x2=10 -L[f j Al R /“ Ziz él.:..cjf Lt 2 / Jir

Write down the formulas of Lime stone and quick lime. -é Lr‘zbi( U\.-Cful u:*’ Ay 6))
Define Avogadro’s number with its symbol. N A ingEs JS ANy Gi)
Write down the electronic configuration of 1™, -éfg—‘i-g SiS &!;S.J\J o' Gii)
Complete the equation mvr=___ _ mvr= .2 J‘r whts  Gv)
What do you mean by Periodic Function? el Pl ‘,_u,ﬁ e W
Write down the names or symbol of first and last element of first group. & K ket K.&—'J:ldj T»li;';é:.{,f z.l,";' (vi)
What is the trend of electron affinity in a period? 94".(:)?/?1/: iﬁ-bﬁ‘f’ 0] /'.‘-j o Cvii)
Define ionization energy along with its unit. ] LAy sl é..éj /7 e SARAYT  (viii)

Answer briefly any Five parts from the followings.  5x2=10 /27l Liibie §f e bititn -3 40
Define Van der Waals forces? What is their nature? ?UJJMU’! 4IPS H ?2_‘; - /“" J 3 A )
What is meant by non polar covalent bond? fe sl /_l_fcﬁ:l,.*—'{:f /{j ot Gi)
What is meant by hydrogen bond? @ Sedl p e ilPadzy (i)
Convert =100 °C to K unit? @ ezt K I-100°C  Gv)

What is meant by amorphous solids? Give an example? {&Q{BO 0oL e gf P )
What is meant by supersaturated solution? % e e s (i)
Name any two factors which affect the solubility of solutes’@% vz rtz:/‘ }..C' »c,gjf Ll;i_n)lll}l/,,GJerg}/ ‘f‘ oy (vii)
Why do colloids show Tyndall effect? sl Sus a2z (vidi)
Answer briefly any Five parts from the ' <g>s. Sx2=10 - /. /,;/’ .-,yz/‘? Ziz ékc_(jf C—U:JJ(‘/H ..4/1".' Jir
Differentiate between spontaneous reacti Ll stz ild 1357 Libingiliné @)
non spontaneous reaction? _é f: I /'uL/JuC uﬂ‘:ldj
Calculate the oxidation number of sulpher in 'Alz(S O4)5 Yér:”" / Jf:u‘l’ 6/,51’ S~ AL(SO,), (i)
Why the following reaction is not a redox reaction. Explain | g,:/ eobse J s U u"{l d;gfrli_uue’gl Sauksts  Giid)
withreason? NaOH + HCl—— NaCl + H,0 NaOH + HCl —— NaCl + H,O
Who was A. Volta. “FufA. Volta  Gv)
Write down two chemical properties of metal. _é V] f' u.':a.l;n‘;' J ,lff.(» J J* )
Why the second ionization energy of magnesium is higher than -Q_Jﬂu::.cf’_l,)ag%(ﬁﬂgﬁ"f LETS 0, i’:"""i" (vi)
the first one.
What do you mean by 24 carat gold? SUYZ /TG Lis 4 2 24 (viii) Define Halogens? -Z:J p 0Pk (vid)
Part 11 e
Note: Attempt any Two Questions. 9%2=18 I u@iiﬁuwr”t.df <)
5(a)  Define molecular Ion. Write any three differences of 2+3 cd[ 01 /,ﬂ Luldrc’ L-é«_&' v J T/_,,C’ L @ 5
molecule and molecular ion. ...;_"f u/uf
(b)  Define ionic compounds. Write their three properties. 143 & :.«‘L.ar”. B! up;l’é:; -y $oks LIJ FAR )
6(a) Write down the applications of isotopes in any three fields. As gy el gy L RIPT @) 6
(b)  Whatis Boiling point? How is it affected by different factors A4 St Bl Seng By @)
7(a) Whatis rusting? How can be metals prevented from corrosion? s fe Eﬁbggcf ey ke B @) 7
(®  Discuss any four characteristics ff a suspension. A4 & :‘—‘5/,—%!;”"’. Ay &, Odaguass (b)

7" 936 - 0924 - 55000
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A, B, C and D. The choice, which you think, is correct; fill that circle in
I the circles. Cutting or filling two or more circles will result in zero mark in that

this question paper, on the both sides of the Answer She

et and fill bubbles accordingly,
tuation. Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
98 g 9.8 amu 98 amu 98 J '?‘-fu"b/d-’.’.'?‘-g’ LHy80, | .1
: t:. he molar Mass of one molecule of HySO, is
ST e JeL r JL‘,’, » -c;.(}:_(yl}léi;}.al:_(’-‘-t 2
Molecular ion Cation Molecule | .y Anion The removal of electrons from an atom gives:
sz R O T Al B ST ~e bWt Aty | 3
Heavy Water | Hard Wat ‘-‘“;_ i r ater Light Water | Deuterium is used to make:
o | S0 S i W Jnajulwmfd.j@wg&w)?;_au:ﬁ:.,,_',,, P
Electron Electro Ionization Lattice The amount o g - Uk
affinity negativity energy energy givenout w&e electron is added to an atom is:
O 3 »
NH, N; BF; 0, @ e Sws i | s
— \ lecttpn deficient molecule is:
, A -
@ L PP N0L G b zapn s S Sedy | 6
<&
| %Yy %Y/m % ™/y @/m If a solute in grams is dissolved in =<‘:.Jlkf el yy
@@ 100 g of the solution, the percentage is
g-bnyimmHg 2460, 100°C | .7
\ 149.4 553 _ '
760 3951 Vapour pressure of water inmmHg at 100 °C is.
U d e oL L enf e Syt L | 8
Petrol Water Ether Benzene The solvent in which polar covalent compounds are soluble.
B bT | EBDh | Erpest,s | ebafeails -q—wé“b’f Uh g nl A | g
fonic Metallic Covalent S ¢ Transfer of electrons between atoms results in:
, Coordinate
bonding bonding bonding wowalian bl
Joos qu’l‘ QJ-‘-’...Q:}?I J-’-ﬁ):r -q._t'nu:'gldjdf..‘-fuué..ndlufjl 10
Downs Cell | Nelson’s Cell | Electrolytic Cell | Galvanic Cell | Spontaneous chemical reactions take place in:
Fe(OH);.nH,0 | Fe,0,.nH,0 Fe,0,4 Fe(OH), The formula of rust is: -?.U:‘/W.f J | ~11
- a > )
b€ By siitiSia iy e FEALESE 2o | 12
Calcium [ron Magnesium Sodium

945-0923-

gThe metal which burns with brick red flame:
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X< D[~ 2%, Pat I sl
Answer briefly any Five parts from the followings. 5x2=10 -g.[f _,;’ ...4.!.?/9 Z.l?lé :..Jf Y-8 -2/r:’dlr

How does homogenous mixture differ from heterogenous mixture? Sl e il £ (,r"‘) sl g S e (@)
Define atomic mass unit. Why is it needed? ?J Tu:' u:{ ) /J il q{ i /7 J T ] (i)
An Element has atomic no. 17, How many electrons are & R ‘J? MuiL, KL le1 7/-" ...f?ib’.‘.:—:{:i{l Gii)
present in K, L and M shells of atom. ol A

What will be the nature of charge on an atom when it losses or gains electron. s il IS (T INIPRIA V#L@Juwl/"gif“ R Gv)
What are Transition metals. St A% (vi) What is Mendeleev’s Periodic Law. S0t abilty  (v)

How many elements are presentin 5" and 6" period of modem Periodic Table. ?(,UI.nu"":&l & Jiﬁéuqu LN 'y Lase  (vii)
What is the trend of Atomic size in Periods and group. \PID Y, ulh,.«:f K7 (viii)
Answer briefly any Five parts from the followings. 5x2=10 -q/ 4)’ R /ﬂ L1z S/k;ljf e St -3 / Jir

What do you mean by Tyndall effect.-e— /e ¥ )3 (i)  Define triple covalent bond. ~2%._y ke, /AN )]
S taudue Sollasy Bl Gid
PPN A l{..ﬂ'-f’b’,ufu;frT Giv)

Define Boiling Point, Ly et By (i) Define eﬂzi§>g®e example. ~ZEs e m 2ty F St W)
ca

Define unsaturated sqlution.-é.yj’ S Lol (i) lled as mlxmre??ﬁ‘-l:‘lolc(l.)/ /"r SAb (i)

Answer briefly any Five parts from the followings. @% S uf ez P Ly $S et q:,tj&w Wy
-;’gﬂl;"»a.dfﬁﬂﬁif/ﬁ%ﬂ @

D3 e IS A G
VT Civ) Find out the oxidation number of HNO, -&5 7 A ¥ 1 /Tvino, (i)
LA L N,moz((?-"? W)
MR AT Y T YA
et SPusdE2 (i)
-ércé%;ﬁd,/ ke (i)

Why water has higher boiling point than alcohol?

Why lonic compound have high melting point and boiling point? 7 q_t' sl j

rite any two rules for assigning oxidation numbers.

What is the difference between cathode and ano

Whywan iron grill is painted Erequently??q_t'lgkru
Write down chemical reaction of Mg with Oz and N.

Give the trend of eleciro positivity in a Group and Period.
Write any two Physical characteristics of metals.

Name four least reactive metals.

Part I
Note: Attempt any Two Questions.

9x2=18 f Juyuyéwm,—»e_éﬁu
-u.—“a/'u:Jve?wr,éuuf_w’sz (a) 5
-éuy.fuﬁ,/*ﬁd»i.ﬂnd}:f (b)

5.(a) Define free radical, give differences between molecule and molecular ion

(b)  Describe postulates of Bohar's atomic theory.

6.(a) Explain five major properties of metals. ) LB Feler® UL @!; d4 (a) 6
(b) Define boiling point and also explain, how it is @ LSS e gy S flesy Bl ()
affected by different factors. ~ _,,_az.,njul}t/,u‘l} )..C‘ il¥
7.(a) Define oxidation state. Write any Four rules of 1+ W LRI AP E budfaT  (a) 7
RSP

assigning oxidation number.
(b) Give at least Four characteristics of suspensions. B2 P Jigﬂ'lf J# ()

46 - 0923 - 50000
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Note:~ You have four choices for eachf‘:jcctivc type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question.Write PAPER CODE, which is printed on this question paper,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

on the both sides of the Answer Sheet and fill bubbles accordingly,

(D) (%)) (B) (A) QUESTIONS Q-1
st Jha d" At LW B P K ST 27
Triads Periods Blocks Groups In long form of periodic table horizontal lines are called.

el yms |,
Clz and 02 N; and H20 C,H, and H,0] HCl and H,0 . . *
The pair which l;xg(@l\ar covalent bond.
ey S Fl Sl T arohiglyd \ﬁc..,,u:u-'*‘»"i:u,;@z_w:,y
+ ¥ 3.
Silicon Nitrogen Hydrogen Oxygen The %ndent element occurring in the ocean.
CH | C,H, _CHO CH,0 @%ical formula of benzene is q’.l!r’zﬁ()i Al b’u,_‘ Vs 4
o o, &
4 3 2 2 b R TS|
A @ M shell consists of no.of shells,
— PRI .
e -c"_dl;'of L bk Lie S 6
0 ‘ ;
Cl, 4 Br ? One is an example of reducing agent.

3T of 2 s o S The halogen-q_dw!;u: c«’bdl./vgf. /,J (u.ecﬁ s+ 7

lodine Fluorine Bromine Chlorine which exists in Liquid form at room temperature is
1413 C° 800 C° 100 C° 0C° Boiling point of NaCl is-q...:ﬁlgu@"ufyw({fir 8

of s 1P ~ Pl -4-0/723c—dﬁu{£c-ufc«'! 9

Chlorine Fluorine Helium Hydrogen | The following gas diffuses faster.
e QS P NNOLF b 2amwdip S | 1o
Y/, % V/m % m/i, % M/ % | Number of grams of solute dissolved in 100 grams of
solution is called.
j_,’(,,(rlijr L‘[/f‘ J/T(.'fr’[ J";' -ﬁ'—d‘?&"u:-?b(dwiédtuf 11

NaCl Benzene Kerosine oil Honey One of these settle in water,

Fe (OH)3 Fe(OH)3.n H,0 F3203 Fezogcn H20 Formula of rust is -C‘-UY‘JBKJJ 12

947-0923-38000 (3)
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Answer briefly any Five parts from the followings.  5x2=10 -ufd.:.w,f*amégc.df ¥, A
. 4 4 SASLITn 24 )y

Define free radical, how it is re
J presented?

i » ¢ b‘ g w ) ‘f‘/ - .
What is the natur el AU A it 1 ;
. o nature of chérge on cathode rays?eif e ISt 435 (i) Define organic chemistry. 2, .nl /'; f if’jg/ @
OW many protons and neutrons are present in an phosphorus atom 31P Ay UAALT i)

15 -ww)),fulue;4£u':ﬁz’uupﬂ gép (lv)

Which periods are considered as normal periods? 2oLy
D f vt B2 b b Y 3 - b 4 o b
we ine electronegativity. .25y 7§k ,:é ) (i) Define atomfm(;~ & Jiﬁﬁ :;y:%cuf W
h i . . us.~&= oy . f ;
y th;:::e of atoms decreases in a period from left to right. . fu Y j Aol (vi)
wer briefl i ; . ’ LAV
- .e y any Five parts from the followings. 5x2=10 POy 4 ZizngieJs. ugjww S
¢ electronegative element can form bonds between themselves. justify. -wébktuﬁuﬁf‘ﬁ‘d‘, L ;ﬂ, ) J‘-—/ JZ‘/} -3/3} Jir
= v i3 Vo 2131 L[ el S (i)

Nhy does sodium form a chemical bond with chlorine. bty Ji‘!
Yefi bed - s x WL, . i
efine solvent with an example.-of. /s e 2t 2 () Define ch:nical bo &‘d éj .:i’?{gé; i
. nd. <&= L} }c‘, v (iii)

Vhat is transition temperature? Give an example.
Yefine the term Allotropy with an example.

é;uc».gvf.,; e fidfH) ()
@@ Ll eJe Sl (i)

lifferentiate between solution and suspension, e
/hy does colloid show tyndall effect. O%{&%O :i-:/) VST sictdr  (vid)
~BLusdo bbb iznd  (uiii

. (5 Cl Vﬂ.l)

©
Answer briefly any Five parts from the followings & 0wl felz Vo Lméggél = ALt 44U
S b f RS e LirEi/S
gt ASERFIUHNO, G
AR AP H=41
te GRS TS i)
‘c‘:.l/u/.'ﬂ)dﬁf:_._/b’fg’-;—ui’f Gv)

What is the nature of metal oxide? : 15 o /b/ 24 (7 j/{)JL»///dL/@ W

boos e 5 4 .
What is trends of electropositivity in periodic table? ?‘é._U/UV-JK Wiy ,Q -5 ..f!l_._[, (vi)
Write any two uses of Platinum.-2¢ Jb-:’l»c_(j/ L{‘-" i (viii) What do you mean by 24 carat gold? %..,berb’i_rbl 224 (vii)

Define oxidation in terms of electrons. Give an exam
Find oxidation number of Nitrogen in HN O

Oxidation number of H=+1 Oxidatio, ber of O=-2

What is the difference between valency and oxidation state?

State the best method for protection of metal from corrosion.

Part II ( >
Note: Attempt any Two Questions. 9x2=18 -qu .qf ..-:,uzé.-,mr»a,éﬁ.;)
s(a) Define element and its unique property “ Valency”. 5 u’*,,q/ Sy “r el Sk @) S
el

How this valency become positive or negative.

A e LS e T )
?q/yu,JJ:;Jt:‘.,g?z:-f..y)J,‘cgJ,fT (@) 6
(b)  Define evaporation? Explain various factors affecting it? 1/ oo Y PRI VIV VIV gt/ i O )
() Whatis the principle of Electroplating? How is Silibg M“j (f ,Je §_k@ IS E L g S (@ 7

electroplating of Cromium carried out? e J‘? J C-(

(b)  Write atleast four characteristics of suspension. 4 -’Z_gug:‘yr‘; ;tﬁfjl[ J /5%/ )]
948 - 0923 - 38000

(b)  What is an Isotope? Write its three uses.

6(a) Define Ionic bond? Explain it with an example?

(7 I -
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the situation. Use of ink femover or white cor reum g fTuid is not allowed

correct: (il thar cirele in
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) r TR &
[ {5} j (A} QUESTIONS G1
| , £ gL Fe The Ve dlaf Yl ST PPNl B
In orgusic ' Organic 310 mdud’n' 1]
Chemisiry | ¢ hemistry Chemistry Chemisiey manufactuning of sulphuric acid is applivation of
i85 L’/r:::.T (J‘E ./',"-;- (' g_,\a/v -;: \_/_[(_jJJ 2
Ar Oxygen Water Sugar Which one is the example of mixture
- o . - 'f"’ 3 ~
eh m Y /u @@y(}fyl/mﬁ s.;/!l)" ! %H,‘:ﬁ';j: o
Three Two Otie Zare Number ogxe@ns in deuterium # isotope is.
“ ' e
I Ne Be Li %
h onc element has ihe lowest atomic radius?
) po- . y \y/ d b 9 = ko .
VAU U A A0 < o @ Sty f LTkl e, 40 s
Acetone Ether Benzene | - Wafe Polar covalent compounds easily dissolve in
N
S(Y) Whichi';_.t'lgL_l;f%é%;.v’ibj(ﬁﬁfhﬂufc;dfdibn 6
NH, H,0 NH, Nacl ;
of the following has a coordinate covalent bond?
. . ?a:;,b‘rrgjfi g,f':f.,-c__(j):"upd'\.uﬁ L3y 7
CeHyiq CgHig CoHyq CioH5 vy 1. .
| Which onc liguid evaporates rapidly?
| . . 944 - ERFHHED G | g
12.2°C 13.2°C 14.2°C 182°¢ )
Transition temperature of tin (Sn) is
J > . ~ J oo r
(.c‘:_,uﬁ,’:c,cf_,':A,Z./,‘-f@],:—_\}LwJ.i;’l/ugtv’ 9
NacCi Cey(S0,)5 Li, 50, NaNG; | Solubility of which one salt increases with the
L icrease in temperature?
) e JeSea Byl S| o
02 Brz Zn Clz
B Which is an example ofreducing agent?
LA HCI NaOH | CH3;COOH <A i s | 1
Benzene Which one is a non electrolyte?
sk YN o gl 5 o0 3 - 5
Wak L0V Pt s S KLk Bkl T S S e | s
Transition > i _—
element Halogens Noble gases Metalloids Metals form ionic compounds with
cments
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5x2=10

Aunswer briefly any Five parts from the followings.

L f ez Lime §S e tstn 241

. : o N S , .
Define relative atomic mass of an element? Write its unit? ) /4/0' ..:f,fl{gﬂ»lu__/ it JJL.ﬂ‘!dJ £1)
What is meant by mole? Give an example? ..’c"t’::u"(dt"?y_ﬁ?g:.)l/gcd:’ Gi)
. . C .o . ¥ s
How molecular formula is derived from empirical formula? @.r@gf;ﬂﬁ_:,unbgﬂﬁhvnb,';:f’t (i)
& fa . -~ i & . P o
Write down the electronic configuration of chloride(Cl ™) ion in subsheils? “u.‘.“’gu'ffg’ ...ﬁ/-'ulu.‘.)f‘_/ J(Cl YT le}:}’/ Giv)
Write down two observations made by Rutherford? ‘.U.'."g 4B 308 1 )
7 3 . o ’ A s .s):'/c, » )’ s 5
Give the trend of electronegativity in a period and a group? f;.gul?-zfd - -3/91;}‘.'.,.,} s (i)
. - . . G j » ..
What is meant by atomic radius? Write its unit? U= (f’ 19 e /"U/ c:.uf'-,y.f b (vid)
How perieds differ from groups? ‘-'ufﬁ 3/ Lﬂ:xr siikp (Vi)

Answer briefly any Five parts from the followings. 5x2=10 </ f/,,;’ .:«Ui.’/"‘? Lz égcéf eSSt -S/Jlr
Write down any two properties of ionic compounds. _&;r/“/‘.ago:";ud'fu()kfgv@ﬁ ®
Define hydrogen bonding? ..é_.é_//."(f.fihf:ui’k Gi)
What type ot bond is formed in nitrogen molecule? ?c.(?:xg&{(‘"’uf‘,/:d;;?uiu’-;j—’t Gii)

SEE b & V)

State Charles law,

Define Transition Temperature with an example. S e Jow /7J Y f.,‘ ooz (i)
What do you mean by 22 carat gold? 0%{%?% ("‘;'—.L.’( A bl /.? 22 (vii)
Write down chemical reaction of Mg with O, and N, “’Uf' Pl S0 s V[.fy? §Ny.s10,  (viii)

Answer briefly any Five parts from the followings.

What is unsaturated solution? How it change into satyra C{ Un i gz S "c_t'fLJ:( Odglen S yamase o @
solution? ?a:‘:.k'(?gd‘e‘
What is X volume/ mass? ?9_9(/(31:/‘/(. G
Why the suspension does not form ho b UL T (Gid)
Why ether, benzene and petro} are insoluble in water? 0Z g S us BANY e o Giv)
What is Alloying? ?4,'-.*./('--'51 u vi) Define redox reaction. ./ j""d/ U“fld;‘ﬂi“{ W
Whose are non electrolytes? ?ujz_yzc;,uf u""ui /‘.alul: (vii)
What is the basic function of salt bridge? fe. U/rb/ Wbkl (viid)
Part i [P
Note: Attempt any Two Questions, 9x2=18 "y j...wé...mmc.é,‘
5.(a) Wutc any three results of the experiments and two (3+2) u‘jﬁbwléﬁwf =7, Lo FLtbiidn () s
defects of Rutherford Atomic Model? ?wfﬂ
(b) Define Molecular lon? Wri te any three differences (1+3) c..JfZ:JT,J:_:?L/)IJ),:QL?LJ:/VQ/‘?JJU:_:QL ®)
of Molecule and Molecular lon? ?u.‘."g Jit
6.(a)  Whatis a coordinate covalent bond? Explain it with en example  (2+3) ek c beJELite Vit Su33T @) 6
()  Whatis Boyle's law and also derive its equation. (2+2) -E’:’E!dqabvg(ul‘/..' ?‘a.tfu;’l? KJ’M (b)
7.(a)  Explain the construction and working of Daniel Cell, aun b/l g2 s, ALy d S @ 7
draw diagram also.
(b) How does Sodium react with Water, Oxygen, (1x4) J/a.(;ilzﬁu_‘»‘ulu’w.:v’gcuﬁ'ﬁ«dgb}’u[ﬂ.‘»r )

,.

7 4
926 - 0923 -

Hydrogen and Chlorine? Write equations.

What is meant by ef
o
@

o fvas??a;l/lfc_u)‘;é!d:wf Gv)
4 : L1

-ZJJ (7 ?g"_
80000
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Notei= You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
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from °C?

(D) (C) (B) (A) QUESTIONS Q-1
s 5 . . 4 7
, . - o LA AL dis 2. H’ e LALEI L 1
o= el VAP O) k! ' . . :
. o Escaping of gas molecules through atiny -l
Density Effusion Compression Diffusion ) . .
’ hole in the space with lesser pressure is called
4 wt .o 74 -.c’_.L Lu/ Lf JJ’)C_L/JL}‘GLIC_.L{ u’)’l)i 2
o pe S= e ‘._./(/ ’
o A solution formed by dissolving a substance in
Aqueous Electricity Sugar Compound .
water is called.
o i) Z.t ek _g_t'lk(rtﬁ_gm} .,::JF:J./U)ﬁ.»/CAKJ’»‘K 3.
Stains Corrosion Alloy Paint Slow and contj ting away of a metal by the
surroyndifgigedium is called
-1 -2 -3 -4 e AR T, |,
oxlc.afmu numbu of oxygen in peroxides is
w5 (:'-'T‘;_LJ 4¥ u@ . .:c‘._dddl:é_.(gdgc,&/’/upc_q 5
Zinc Aluminium Copper {\Ixoh The most abundant metal is
d(u(..‘a/:;.)!/' 510597 ' JJo_f'lﬂ J()JJZ__— , -C.Jt L(j}(,(d/ilué’-{ 6
Lack of Polluted air Maln@@ Unemployment | The duvdopmem Qf chemical industry has
transport generated,
SHE | oA | S | 8 -c.»%uwéf G AL G0N |
Biochemistry | Inorganic Industrial Physical The study of manufdcturmg of chemical compounds
Chemistry Chemistry Chemistry | on commcrcml base is
58 135 Wz sl gf s skl L QCJ“' & :/lzﬂc.gﬂg_}/:)g Jler‘V"(x ¥ 8
Rutherford | I.J. Thomson Bohr Dalton Almostall the particles passed through the foil ¢/
undetlected. This observation was made by.
o .y sy P W FESFE ALl |
Dalton Mendeleev | New lands Dobereiner | Creater of first version of Periodic table of elements
; " ) | _c.DC/,/Ulu"J’J",c_J(’U/, 10
C‘h]orme atom has electrons in the valence shell
. , L. et e G SUAGLLR Sy a i Je
20 i ks LA T 4d L 11
_ ) . The chemical bond by mutual sharing of their
Co-ordinate Metallic Covalent Ionic
valence shell electrons is called
-C.VYL)/C_OCf/J\}‘CU)U/ 12
-273 273 -100 100 The scale of temperature in Kelvin Scale starts

927-0922-70000 (3) %22
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Part.. I J,s e

Answer briefly any Five parts from the followings.  5x2=10 /% 7ol Lizbya §fe ttitn 24y
Write down the empirical formula of silica and benzene. %p "' W "’J- By :‘/Lcdé /1bvjj:lw €))
Define triatomic moiecule with an example. &h 2\ va{».y;’ Jr_):;gtd- Wdl/ Gi)
Calculate the number of moles in ‘6 gram of water. - --&{’XQ"J'A;"JQ.J!‘U:JWI/% Gii)
Write two observations of Rutherford’s experiment. ‘ ""' &= 4 j aipndle ¥4 F L35 Gv)
Define electronic configuration. -2{._,3/ Jw)glg_a,?' W
State modern periodic law. Who put farward this law? ('l_/& i g/ _._,..Z“_:u'g. U.fﬁwu}ﬁb v
What arethe .:rends of sheilding effect in the periodic table. S _kf:atb’-zé .:‘?.’J jﬂf.,}f J": ..f.?l_[— (vii)
Why elements of group 1* and 2" are called S-block elements “fu,)"f’* :%"J/}-S:” u’%{l.{:u:f rundd (vii)

Answer briefly any Five parts from the followings.  5%2=10 _u’f 4/ ...:U:‘"/" Ll]lgzbc.df 4'.&(,2:01: 34 JS:’
Write two properties of non polar covalent compounds. ! Lar"stm:U ik s :’/f:’ut ®
What is meant by single covalent bond? Give an example ‘ =yL J{JP.—L/' :I/JLAL.A»(J:’ (i)
Show intermolccular and bonding forces in HCI? ol x(_/;lb 7'/; % tmbg L ~!J(H(,1)MLJ//)‘/ v G

Define allotropy? Write any one reason of allotropy. 2 !L}fbfdl/}l\j/._ﬂf an}'i Gv)
State Boyle's Law? Write its mathematical expression? J{._,l,\/dl) J‘ﬂmu‘fuu JIE (J 1 )
What is meant by transition temperature? Give an examnple? %{&ﬁ u’;(j’ & ..ff/,la:' /U/:_ fsi g/"'/‘/ Gid
Give the trend OfCICCIIOpUblthHy in a group and period? %5 fe U /(d/u:’;/“lu’f./z J;h..r,/‘? (vid)
Wrile any two physical charax.tenstxcs of metals? O ayw dfb;.adeJ‘/": (viii)
Answer briefly any Five parts from the £ i@ﬁ; sx2=10 Sz ela B L $f e Liditn 44Uy
How heat is given out in solubility? ‘-’g.&xb:l&..{oﬂ] U Hasslsa ®
Differentiate between colloid and so _Q{UQJ}JIJ:L’»WU/' Gi)
What is meant by m/v % ? S pPe vz Gv) How une ntolar solution is prepared?  te vl il b e i (i)
Wrile the function of Salt bridge 7“5..1:‘ :’(‘KU ((,/_JL (vi) What is coreesion? Give its example. ..__)Lfdﬁ-" & l/uu/ W
What is stainless steel? ?<5_t_.fgff (,F) en (vitl) : Define Alloy with example. -c.::qulé:...v Pl (i)
Partos wesmmmesmomsw I e e
Note: Attempt any Two Questions. Ox2=18 -u’f L& ubliﬁumr»aéf Wy
5(a) Explain five differences between Rutherford Atomic %525 a0 s S LV esiani So® S350 (@) S
Theory and Bohr’s Atomic theory. "L ub.u / éL
(b)  Can you identify mixwre, Elcment and Compound out of the following 0.5%8=4 DS ;ﬂ/ ekt g b../{ Te itz )
() Tin (i}) Coca cota Giii) Iee Crean Gv) Petroleum (2' s 2 GV L uj T Gid) 06 Gi) @ S S
(v) Gun powder (vi) Sugar (vii) Salt (viii) Blood ‘ wAviil) LCvii) S (ui) 25 (v)
6(a) Define ionic compounds and write their three propertics ~ 2+3=5 -J-'-J .:.,yr"' L Wl ) P A &.y,/" d’.?fc;ggf T @ 6
() How boiling point of liquid depends on nawre of liquid ~ 2+2=4 4.&514~.ﬁ/’:{(/}/ 7 1355 /’-'IJ:lc-/.f.JJ g ®
and intermolecular forces. .25 N
7(a) What is the principle of Electroplating? How 243=5 Qb LBk OSE S W UmS Bds P @) 7
electroplating of chromium is carried out? fer
(b)  Write any four chemical propertics of Non-metals? 1x4=4 ‘;/'J ...,Lav” uwiw YT 0 B )

928 - 0922 - 70000 &2
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(D) (C) (B) () QUESTIONS Q-1
VB H0 |
0 amm 20g 18g 18 Hm Molecular mass of H,0 is.
L - - 2
Sl fx ‘Z'f -~ -L
; . - . BEH I gSL| 2
How many clecirons can L-Shell accommogglate?
AT i v SN | . li( #% ..J/:L/' 3
Vertital l uny hAPE, i le are called
Groups Periods Tables Rows ‘L e
V o 7k
32 18 8 2 ﬁ - —J'*”Jd/”{‘u'iﬁd-—/» 4
Tl )gi\%%b of elements in second period is
a1y &byl LT M @%(L 1708828 s £ S5 S| s
“5‘{'.’/ Covalent Tonic Met x
Coordinate If the difference of elecironegativity between two
covalent elements is less than 1.7 the bond will be.
) -
BT | Rk | Sty Sl 3 te bl U 0, | 6
lonic bond Triple Single Double Which type of bond is present in O, molecule?
covalent covalent A Tt bord
bond bond 7
273 °C -273.15 °C -173.15 °C 0°C The temperature "c.t’r://f'l;b’g/ J&' 4 uf W
at which an ideal gas would have zero volume is.
A FTun e “ldm’ 1|
5 v oM Lo ¥ Crnes b iunf, f40£Na§)Hu“1 m' i 8
1140g of NaOH are dissolved in 1dm™ of solution,
the solution will be
2.0M 1.0M 0.25 M 0.1M Ttk P wlig US| 9
Which one solution is more concentrated?
o 7 ‘O y
- 5 4| :
NaCl Benzene | Ca(OHM), | CH,COOH sdeden BB | 1o
Example of strong electrolyte is
.".'"l % _...” o
” . A S e APEF T T, |
Oxidation number of oxygen in peroxides is
U JA T Ay S | e crdE oS | 12
Phosphorous | Diamond lodine Graphite | Which one non metal is extremely hard?

_+ 927-09214r-60000 (1)
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Answer briefly any Five parts from the followings. 5x2=10 -u_’f,; /’ .:.'[.Lz/"" Lz é];c_éf LSt 2 / Jir

J

What is radical? Give one example? ?z_é)u‘fdt‘mg’:.méwyﬂfﬁi“} @

Define formula unit with an example? ?’é;u‘-’dt*m{ungf..y/’(f&g U A Gi)

How molecular formula is derived from empirical formula? ‘.‘Z:;Jf Jl?".’c‘;.b‘(g Ui c;'_/ Uy J/’ Al cUy‘/I.i/:;g Lo Gid)

Give an example?

Give any two differences between Rutherford’s atomic theory <4 7 Wb ;,J_J’ BV sintiins (iv)

and Bohr's atomic theory?

Write down the electronic configuration of Al’* in subshells? ewr 1 leLj.‘.mgL'j% g A # At W

How many electrons are present in its outermost shell? s A S e J:" & Ve

How is periodicity of properties dependent upon number of /’” C_Q,)UJ L,(‘/'}u::»?r‘d.f (‘:IJ (uu"ﬂ;/:e i .:rgar". (vi)

protons in an atom? fe

Write number and names of elements of first period? -Jf’g (’L'AIJLJJ u’;fj"‘ Ik é’,-f— (vii) .

Give the trend of shielding effect in a period and a group? L?;&’...ﬁ’i.f,ﬂﬁu‘u,fuli/ (viii)
Answer briefly any Five parts from the followings., 5x2=10 -/ yy /’ @[ JI&L._J:” A5t 3 AUy

Define Chemical bond. O _q‘fu..e!/"d/ﬁl,‘)/{{ 6]

What is meant by non-polar covalent bond? Give an example. %{&% “ZJiet 5-,):/L“,Q—,J:g.:.;g,f)gut G

What are intermolecular forces? %@ J.:‘f u.l‘/.?m(}ﬁ_l,f//:;/' ;:g Yl (iii)

What do yoﬁ know about absolute zero of temperature? CE bl ;;Tuﬁt_zgéjg./;}u;j&::‘rﬂ Giv)

@ -c‘..t‘n}.'lg(/;./:_.j/?/"‘.'/?g.; W

B AL ML i iy (vi)
Define unsaturated solution. -é & /‘7 J J A izm o (vid)
Answer briefly any Five parts from the followings.  5%2=10 ./ / Feli2 AF Lmétgdi’ e LSt ALy

Define reduction in term of electrons and also give an example. -J)JJVAIJ/J/"JU uc__Ll:’L/,/‘ai 6]
Define strong electrolytes and give an example. -q;u‘i’dwu/_g/ Ju"’ !J;/..alu’(b Gi)
Define electroplating. _uiﬁ...y/‘?(fué%.:/‘gi Gv) What is redox reaction. -q’fbé'/""g,(o';’g!dzkfflé/ Gii)
Write the names of any four least reactive metals. -ui"‘f(té ‘/“:;gd/{d‘;/.,b W
Write down trend of electroposativity in a group. -J/ub u’“...;/ub 108 f/L:/ﬁf (vi)
Write down any two uses of Gold. L/‘J_«UW!»ﬁJJ:f (vii)
How does Flourine reacts with hydrogen. -Lj_f/'.;(jigld/,»’l/LLfJJ yb;mb (viii)
Parte oo 11 [ s e
Note: Attempt any Two Questions. 9x2=18 . L 4 ; 124 £,._, Uy c.&:" o
Write any Five results of rutherford’s experiment. -Q;ugéllégcgj:‘/d:,j Zidns (a) 5
Write any Four properties of Compound. -Q/uk;?ﬁ:lgddfp&)g )
Define Ionic bond? Explain it with an example? ‘-U_’/:)Uu JJIQJL“»'VQ/H’{:KJ/."J:CLJ{T (@ 6
Define evaporation? Also describe factors affecting it? ?L,f/wuwz./}vc,u;?c.uﬁ,f54/7@%;. L (b)
Define electrolyte. Discuss its different types with examples. -afééj./uuft‘//,ruk,aﬁﬂfr-zf_y/’gf&u;){’: (@) 7

What are the saturated and super saturated solutions, explain with examples. 2”5 colose UIE e a7 b d s 25 (b)

“7// 928 - 0921aLr - 60000

My



7 s

Ul BF

-’.-L?’Jfaﬁ/d;/l&,%fﬁJﬁ,g{.,lfrJl:.éJIJ (ﬁ".,..:!l,?.) 0921
st 2017-19102020-22 5 1 Loyl
PAPER CODE 1482 1245 (&) Bp4°
e L1 A e LI A 32 b L rerne Sumd ese b Ly 1882 e DACBANZC g L iy si8d

Je A L2 LSt PAPER CODE e £ 2.0 Jir S PUins C Q6N 2K rtar®sle i 2osd it §E S 3 SOMLL S siomsls
' _‘C_Gydb;l“zsgkljﬁluﬁ-Jﬂ{'ﬁh.I'U’dJ’JJj;rau:u:a})‘JJy‘q/

L4150

Note:~ You have four choices

W—é 22/

r each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

font of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
juestion. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

stherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
9.8 amu 98 g 98 amu 9.8¢g .| Themolarmassof H, SOy ist '« J\/»6H,S50,4 | .1
_ N - b - b - s &
4 Ml VS-S0 4SS ey e Frp | 2
Four Orbitals | Three orbitals | Two orbitals | Oneorbital | The p-subshell has
\53‘5"0:/’91 &;,:fj’/'g, d‘;,u-«"_kft}ff L;/"(fg /lﬁ’vﬁb/UJ&}!;c‘;t’kg&u:f.@Lﬁu.’.f-‘-l..rz 3
_— The amount of energy given out when an :a,dl}:{
Electron | g ionegaiivity | 1OMZAUON | atice energy ; , ) '
affinity energy electron is added to an-atom is called:
N~ »
Ll | ihaJn Sk kU Th el -@@ﬁg A A S s | 4
Very long Normal Long Periods | Short Periods | In g fedic table 2" and 3" Periods are called:
Periods Periods Oﬂ\
vy
5 . : , ﬂé/} et LJE CH, | 5
((Q\@ How many covalent bond Cy H, molecule has:
HCI#H,0 | CHy»H,0 | ChustO, 9\5 e ek sd Dyl bt | 6
H,0 and HCl | H,0and CH, 0, and CI@& N, and H,0 Identify which pair has polar covalent bond?
" e bl 23K LS | 7
-273°C 0°C 32§) 100°C ) s LS
273 K in Kelvin scale is equal to:
w17z bl F 100l S b SR S 100 | s
% Y/m % ™/, % ™/ %Y/ If 10 g of sugar is dissolved in water to w@f
- make 100g of solution, is called:
LA o¥ S JE e S LAUYDS | 9
Benzene Glucose Alcohol Sugar Which compound is not soluble in water?
e bu it (=TS OF, | .10
=] «2 +2 +1
The oxidation number of oxygen in OF; is
bkt | o O0FT | FAFT | Pt | ediditmumZE QS LoF Taetuiy | 11
.:,.L‘.;._.Isfff:}_j' LSS Oxygen has o M fenf Ol
efrhr L Oxygen reduced | Hydrogen has | During the formation of water from
li i::;ﬁe; lg:tixl-]sn sxidized hydrogen and oxygen which of the following does
oxidizi;nggaiem electrons not occur?
571 o327 Sl > Se A SRS e L itn | 12
Carbon lodine Phosphorus Sulphur Which one of the following non-metal is lustrous?

~

//7 //‘/A
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Answer briefly any Five parts from the followings. 5%2=10 -d/ j Az /‘? Ziz égc,éf :.JJ’ 30y _Z/Jlr

Define empiri¢al formula with an example. _J:J{Jl‘}‘vﬁmc{uy"p{ﬂ ""Jb‘ﬁ ¥ 6))
What is difference between molecular mass and formula mass? fe v /’gf e b L/.«;..d b (i)
Calculate the number 6fmoles in 9.0 grams of carbon -g:’(}*’:tﬂJﬂmgruﬁwKﬂfqo (iii)
Write down the electronic configuration of carbon according _é:/,; /‘;" u?‘)if £ /:_ﬁ, J,'U»‘ 9 /? ./AL'PJ ok Gv)
to shells and subshells.
Write down the observations of Ruther ford's experiment. -b/ /; eyl fn L5095 %)
Describe the trend of ionization energy in periodic table. g’f K. /iuJ AT T J’” g Lz (vi)
Define atomic radius. -é:f-g‘/’u(udaz.ﬂﬂ (vii)
Differentiate between group and a period in periodic table. RPN nf..«:f A Sz (i)
Answer briefly any Five parts from the followings. 5%2=10  //27 A1z ﬁW'éL«:,J/:_gﬁJJLJJ 3Ly
Define van der waals forces? What is their nature? “‘JYG wu’/ YL By f - 7 Ny v } st 6]
Why does ice float over water? @% ?c;._d V4 u::( /,::lédgu'/. (i)
What is a triple covalent bond? Give an example? =506 L Tl Vo' 704, o J/‘ Gii)
How much cnergy is required when one mole of liquid é /'8'{ QU' KU ] 5c—u'b6|.:( Jr L 5&..2 Gv)
water converts into vapour form? Write its equation? @% -g_:’f d( e Asls ?c‘..dﬁ..,.«g

Convert -100 °C into K unit? & Edr sk i-100°c )
How one Molar solution is prepared? Give an example?@ %‘E:Jt‘z.{:?%ﬂgg}gé i Jrft (i)
O e LIt =% Yy (vid)

%f:)(ﬁdf’/vgul’é;._?/‘?d/cf:" (viii)

What do you mean by volume/volume % ? Give an ¢

Define solution? Give an example?

Answer bricfly any Five parts e followings.  5%2210 /2 F bz Limbie §S e 2itn 44
Define Oxidation number. _Zg - /‘.'. d. / u/::'.fg—f T 6))
What is meant by non-electrolytes? Give example. -é/_’_ /’ o" dl"‘/“.’;._.-' /Lf :_J’"’u: /'-(:’ It Gi)
What is the advantage of galvanizing? ‘."cu’li_lff j:ft'bﬁf Gii)
Find out the oxidation number of nitrogen in HNO; . -Zfi: (yL" / .ﬂw K7 )'/tuf HNO;  Gv)
Write any two physical properties of non-metals. -’c‘f&': Z ; c,_l:v}‘; (fb 9 L«( et (v)
Write two uses of Gold. ' el LA (i)

Write the reaction of chlorine with methane in the presence of bright sunlight. 2= 4 7 Uigld/&l,{ ) ¥ Vd:u;‘;.: ¥orf  (vid)
Why does electropositive character increase in a group. fe yud e )%J:’: ot ua/ (viii)

Part 1 ;[T S
Note: Attempt any Two Questions. 9x2=18 b g ; uUfLuUU’”C—J['h‘a;

What were the postulates of Bohr’s atomic model? ?ag_w, Vs CISb L Vit (@ 5
Define compound and explain its classification - s c;ol.'mf (U"I'f fasl g /. -..é_l/‘." J g (b)
Illustrate polar and non polar Covalent bond. -/ Lol J ) g, ! ut;:l) (4 (@ 6
State Charle’s law and derive its equation. ' &f Sstets uJ Flusl u‘f i/ J SLg QJ' e ®)
What is the basic principle of electroplating? How is the J d_(_.c:.L., /..ﬁl(f (f 3/ ?‘ggdfldJ?(ﬂ;‘;.:}'él (@) 7
electroplating of chromium carried out? Sl

Explain, how dilute solutions are prepared from concentrated solutions? _é yu;?ujé'__lggc/lf 4 ; Lo 1P /j L) )/f ®)

o’ 930 - 0921ae - 53000
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number of chiorine in KCIO; is:-

(D) (C) (B) (A) QUESTIONS Q-1
S e S ¥ S et S g ks | 4
Sugar solution Paints Jelly Chalk solution | Tyndall effect is shown by:-
05{; d/ﬂé/ uiﬂdl (.rlfJV' L‘)"'jﬂl‘x‘ g):b, - g)’(& L ‘3& C— Lﬁsz/" @ui’} 2
Redox reaction | Acid base reaction | Neutralization | Decomposition | Formation of water from hydrogen and oxygen is:-
o bk s §* @ PN AT B
White Golden Yellow Brick red Voilet Colour me of sodium is:-
N -
1o6x10" g s | 166x10 7 ag asp | 166x10 ™ g 0r | 166 %107 mg 0 ;@ i ale(egut L) amufl | 4
1 amu (atomic mass unit) is equivalent to;-
- & w ad
M Shell & Lo bl ity @ I Which one of the following shell consists of
50
/&\ three subshells?
tadt ibakP s by BaLt Wl Wlauivsi 2 J’-"J;M.JT,—/G LI 6
Normal periods | Very long periods | L eriods | Short periods |6th and 7th period of long form of periodic
table are called:-
e GARALTIRS s | 7
+698 kdmol" | +696 kJmol' | +498 kdmol' | +496 kdmot* | . . .
First ionization energy of sodium atom is:-
y',/'_at,l', o4 734033 u:/'?l..fl ‘ _.affzi:fj:-}[.:ﬁfgﬂjggl ek | 8
Four electrons | Three electrons | Two electrons | One electron | A bond pair in covalent molecules usually has:
3 = N
‘-'g.t’rr‘}/fﬁl, ULy C,H,| o
5 4 3 2
How many covalent bonds does C,//,
molecule have?
A2 % L I ‘ e FIP gfe Ll | 10
Glass Rubber Plastic Diamond gné of the fgl ingds crysigliing solid?
AL P JJ‘VU:- AL St a - A S am | 11
gas in solid Solid in gas gasin liquid | liquid in gas |Mist is an example of solution:-
- v © . The oxidation -< Zc&4ST¥ .52 KCIO, | 12

98 5-091 9- 58000 (4)




S(v—C”...Ci - {q _u.‘d ~ 4{ sty L / Jr &l ¢ 24 Ly - Ly (l{l-"«

() 2l §2 55 (2015-17 to 2018-20 %) (£En
484 F JM) 145 .
Part I

Answer briefly any Five parts from the followings:- 5x2=10 -‘.z)}f...uz /"’[. 121 &g;dfcuﬁ JJ L <2

 Define Bio-Chemistry LGS W
Define atomic number and Mass number. Y. Jfﬂf AT AL (i)
Define atom and ion. Sl f PSS Tl = (i)
For what purpose U-235 is used? te b Vb1 £ asy U235 (iv)
What are the defects of Rutherford's atomic model? YIS L IS S0 (V)
What is the difference between electron affinity and electro-negativity? L5 ) AL 2620 Hud i)
Give the trend of ionization energy in a period. Also give reason. -J_/ Uk e Ve KN ST S LA (vii)
What is the difference between Mendeleev's Periodic law and e GV LIS s st S L iz (vili)

modern periodic law?
Answer briefly any Five parts from the followings:- 5x2=10 LSz L7 ige&v{;uﬂbtm -3

Why does ice float on water? fe 3¢ Uy dt_u (i)

Why does a Covalent bond become Polar? te b orud Ak wskd L (i)
Give any two characteristic properties of lonic Compounds. -d/ ul.c..._pf’» u’d/ J u-:l.f.fz 1 (iii)
Why are the densities of gases lower than that of liquids. @ t O U ff PN ..»JJ Zv (iv)
Define the term allotropy with example. - Sk A JéS Q:/:E' (v)

What do you mean by volume/mass % ? (3% el Ve %vim (vi)
How will you test whether given solution is a colloidal solunon orn % S e Sl usLl uf =l L).j( o1 (vii)

What do mean, "like dissolves like"? Give an exampl - »J& e -l V¥ "Like dissolves like" (viii)
Answer briefly any Five parts from the foll s - 5x2—10 -q)}/’.-,w/*ém ‘& c.ch..ufJJbu -4
Differentiate between strong electrolyte a e ectrolyte. -aff (‘: I8 O A2 03 P (i)
What happens at cathode and anode fvanic cell? S b\ 351l Wl Y (i)
How galvanizing of iron sheets is ? e J!g J d_r L7 tl}_f J u’" J AT (i)

Write down the reaction occuring on cathode and anode during A Yadtsdxt g 352l 5,7-';}.' y-"u:/’?iJ 33 (iv)
the electrolysis of water.

Why is magnesium harder than sodium? J‘ul; u;_f r"“"“i“ ..»JJ ( v (V)
Why the ionization energy of alkaline earth metals is higher than Sl u{ = O BHRENFTE IS (vi)
alkali metals?

Why the ionization energy of sodium is less than magnesium? e x| f’ SHRALTS Eirard r'-’"p (vii)
Write down The chemical reactions of chlorine with hot and cold JE lsi‘}u’(fﬁ A L o (viii)
aqueous solutions of sodium hydroxide. - (fu*f IS L AL PR
Part I (2
Note: Attempt any two questions. 9x2=18 Szl crne & -
Write down any five postulates of Bohr's atomic Model? 5 -u.‘gd'_,/“ ég el InseL sy O)5
Write down any four differences between molecule and molecular ion? A4 -.J..‘GJ)J?:. Y- FTE u!d;gl. ((8))

Define lonic bond and also write the four properties of lonic Compounds. f:25 -é{fo‘.;l_afagtfjﬁg.ff T,,lé \_y/"-J 2 ST -6
Define diffusion and describe the effect of any three factors onit. 24 -Z ok A E e MyunZ i/duidl ()
Define electroplating. Explain Electroplating of chromium in detail. 745 f Kl sl & /d Sady s O)-7
Z: =2l J‘J
Give any four characteristics of a Solution. A4 o _—..l:af’zl; A o (L)
986-0919- 58000
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(D) (C) (B) (A) QUESTIONS Q-1
AlL(SO,), Al(SO,), Al,S0, AL (SO,), - Ui 5’-‘——.5*’(""’:5' 1
The formula of Aluminium Sulphate is.
fe bl Lasd C120 9K T| 2
99 769 98.9 % 99.7 % e g
w:a% WRN 0 The Isotope C-12 is present in abundance of
KZiGE | AR Sk A& Q e bkt ) Shod| 3
Alkaline Earth | Transition Halogens Alkali Metals dyoc s are also named as
Metals Metals
o oS | gy S | GARAET @M’de L w2 §Gile b TdiL | 4
Electron affinity | Electronegativity | lonization Lamce he amount of energy given out when an
Ener electron is added to an atom is cailed.
ay
0 H @N - JfﬂJJ‘:L .‘—5’.'”(‘,:; 5
HCI 2 : @Q O The example of Triple covalent bond is.
gzptHe [JEnPsu @@W: fe i B p LS Le L] 6
& Ur a A 9]
They want to | They are short | They want to They are | Atoms react with each other because
disperse of electrons | attain stability | attracted to
each other
488¢g/cm’ | 193g/cm® | 71.86g/cm’ | 2.70g/cm’ | The Density of gold is e dHlir| 7
1dm3 Z o | 1dm3 L exdy | Loy (l);ﬁ S noib S e s Sl adridr| 8
- ) 1/ 100 s
3
1dm3.°f 1dm* of 100 g of 1Kgof I Molarity is the number of moles of solute dissolved in.
Solution Solvent Solvent Solution
o Jik A );‘ﬂucdg -4-d"/d’7":"u’£' 9
Benzene Petrol Ether Sugar in Water | Example of Aqueous solution is
. . : e NS AL e LS5t 10
+Ni+C +Cr+Fe | Ni+Cr+Fe [ 2n+C A -
Up# N LGF | Sockbrdie trhrere r+Fe Which of the following is the mixture of Stainless Steel
+7 +6 +4 +2 L ' , —
The oxidation number of Sulphur in H,80, is
5 A o i e Soue kditn| 12
Osmium Platinum Uranium Cesium Which of the following metal is heaviest?

987 -0919- 47000 (1)
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Part I J;l -~

Answer briefly any Five parts from the followings:- 5x2=10 -/ z/=\z L2 &5 edletditn 2
What is relative atomic mass? How is it related to gram? Stz c_f J“" e rlf FU1% YUttt seidsy (i)
Differentiate between molecular mass and formula mass. -é e DAL UL Uyl L /;pl. (i)
Write two differences between lon and Free radical “E 73 LS GT (il
Wirite two properties of Cathode rays. -é Z /".:..l:ar".» J %7 5;5{ (iv)
For what purpose U-235 is used? ‘e bl Yl ‘CM;'VI U-235 (v)
Describe Newlands Law of octaves. ' “ZE L FTET e (vi)
Why the elements of group 13 to group 18 are called P block S wa.&.-..,iel L F 18.;:/; 13.,,:/ (vii)
elements? 'z ud eeacks!
Give the reason for the increase of Electron affinity in Periods. ‘é k2 J eyl &f“;wf'?lg,t ik (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -q/(f.-.uzﬂélz' && = ch_ 9+ g.b Go .3
What is a Triple Covalent Bond? Give an example. &Ltk wkd f 2 (i)
Define Octet Rule. - @ EE S e XT i)
Why does ice float on water? @@ e (3,:‘ vy, { Jg '_54 (iiii)
What are amorphous solids? Give an example. Q{BO &L Uiy S (iv)
State Charles's Law. @O& E (G yIE Ku’;g (v)
Define a solution and give an example %S e dimg ST (i)
What do you mean by "like dissolves like"? @

‘e A ¥ "Like dissolves like" (vii)
solution. -2;”_: By g L o 57l 2 e & o 1515 (i)

Answer briefly any Five parts from(the followings:- 5x2=10 -q)}/’ausz'étzl ‘Q G-J{:_(ﬁyt}bu -4
Define the term oxidation on the basis of elestronic concept with an example. e Jodiw SR Tk S AL (i)
Find out the oxidation number of chiorine in KC/O, . As L (P/J-’«f ¥ H L KCIO, (i)
ONofK=+1andONof O =-2 ONofK=+1 ONofO=-2
Write down the names of types of electrochemical cells. -:,’.U(cé ru"v J X J?.‘-‘-';}-?l (iii)

Write the redox reaction taking place during the electroplating of ?40(-,;{!&4,/14} Wi nEhomL Sk, @/ (iv)
chromium?

Write names of any two noble metals. -ﬁjrt.ﬁ 2Linsds (v)
Describe the trends of electropositivity in a period and in a group. ket L L ._.,)j,uj & (vi)
Write any two uses of magnesium. & S J/L ,.._...L (vii)
Give the reaction of magnesium with: O, and N, -¢Uu"'f 1o ¥ peteis S L N, it Oy (vili)
Part 11 (» 2

Note: Attempt any two questions. 9x2=18 -q/}f.:.uz&:.mma, (3:( -
Give Postulates of Bohr's theory. /.)5 =g J_/ Uk (.:4;‘55)(?14:6»!}4 (§) W
Differentiate between molecules and molecular ion. A4 SR ST ) B (o)
What are ionic compounds? Write down four properties of ionic compounds. /} 5 -5‘,{ .//..:«EJ:".A" J Jﬁk(..f;f TSy Jkiy'.ff T 06

Describe four factors which affect on the diffusion of liquid. /.4"4 & 2ol J, JInyL_b Ln i i L ét (&)

Define electrolysis and explain electrolysis of water in detail. /.)5 V_ffc_ J:"r :»U:J ey ;.g.uJ Jl'. ”lu_‘ﬂ_éﬂiJ ey 25 0.7

Define Solubility and what is the general principle of Solubility. Explain 4 U/ e2lne brlfUrt 2pk tlu.“.yiJ 5y (&)
988.-0919- 47000
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both

wire of one and half kilometer long.

(D) (C) (B) (A) QUESTIONS Q-1
- U6 M ALK 7
CH, NH, OH CH I KR |
Empirical formula of benzene is
=27 S = & e btrlilyliL) 2
Partial positive No Positive Negative Charge on neutron is
- ! ! %
1 4 " . @@ e S .,r"‘J Siskl 3
@@r of elements in first period is
X2
@P.;_uyc. */L,:._»_,K,J,}S,J\Ju/a Lﬁd_’i(yu 4
' Br ci A@g Which of the following has greater Electronegativity.
() v s
13 12 10 ~\O ‘5'1‘3{} Atomic number of Sodium is. < tr S EEyr | 5
N i ¥ T s 3
3 =y A
- - @ a1 e Onldf P F | 6
et Electronegativity of Cholrine is
101328 Pa | 101327Pa | 101326Pa | 101335Pa [1atmisequalto e trszatm Ll | 7
Au + Zn Zn + Ag Zn+Cu C+Cu B{ass is solid solution of & J}’J;J:" 8
UIPs L1 £ A dl e ). e Jed “Besd| 9
Smoke in air Mist Oxygen in Air {";'.: %xemple of "Gas in liquid" is
water pRZ L2
28 et AT TE RS L KCr,0, | 10
+5 +7 +6 +2 A
The oxidation number of chromium in K,Cr,0, is |
% ! L SRS T e b g | 1 W
Hydrogination Hydration Reduction Oxidation !Loss of electrons is called |
L , e Felutd b S EI/LL 2t/ | 12
}: iy S C ! -
One gram of which metal can be drawn into
Calcium Iron Gold Silver

965A. 0018 ssoo0 (1) S9b-9-1—18
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Answer briefly any Five parts from the followings:- 5x2=10 -/ /zfebiz AL171 § = (fe L itn 2

How does homogeneous mixture differ from heterogeneous mixture. Ui e g/:;,ﬁd_’,ffu*‘ﬁ;/‘_: ”'/::ngm (i)

Define analytical chemistry.

How many moles are present in 40 grams of phosphoric acid (HaPO,)

Write down the observations of Rutherford's experiment
For what purpose U-235 is used.

Why are noble gases not reactive.

Define electron affinity and electronegativity.

Describe the Dobereiner's triads.

Answer briefly any Five parts from the followings:-

Define duplet rule and octel rule.

What is meant by intermolecular forces.
ice floats on water why?

Define a diffusion of gas with aﬁ example.
State a Boyle's Law of gas.

Define solute and solvent.

What is Tyndal! effect.

How can you prepare one Molar solution?

Answer briefly any Five parts fro
Define oxidation process.
What are reducing agent? Give an example,
What are Galvanic cell? Give an example.
Write two methods for prevention of Corrision.
Write two properties of silver metals.

Define Valency. Write the valency of Na.

Write trends of electropositivity in period of periodic table.

Write two physical properties of Platinum metal.
Part 11
Note: Attempt any two questions.

Write five properties of cathode rays.
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How Coordinate Covalent Bond is formed. Explain it with Examples / 5 -J_fc_ JE =Ly J -2 Daf 2@.:)&,;(:_,&51 T/ 0)-8
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What is solubility? How temperature effect it. Write in detail Ao & e b e g S e S ()
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Write four differences between compound and mixture. 4

What is Vapour Pressure and how it is affected by intermolecular forces. /74

Write five principles to assign oxidation number. 75
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will result in zero mark in that guestion. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
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Argon Nitrogen Oxygen Carbon monoxide | The most abundant gas found in the atmosphere is
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The oxidation number of hydrogeh HCI is
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Calcium Iron Magnesium Sodium Which one of the foliowing metal bums wilh a brick red flame?
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Answer briefly any Five parts from the followings:- 5x2=10 4}_)}/’;4&/‘?& 121 é& a.&f.«-_ut Jitws -2

Differentiate between atomic number and mass number.
Define relative atomic mass and atomic mass unit.

Write empirical formula of benzene and hydrogen per oxide.
Describe two defects in Rutherford's model.

Write electronic configuration (subsheli) of A{.

What do you mean by groups and periods in the Periodic Table.

Write any two salient features of long form of periodic Table.

Why the elements are called s and p block elements?
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Answer briefly any Five parts from the followings:- 5x2=10 _//zfeltz AL121 §L « ek S5tnm -3

Define coordinate covalent bond. Give one example.
Differentiate between polar and nonpolar covalent bond.
What are intermolecular forces. Give one example.
Define Diffusion Process.

What is Absolute temperature scale.

How supersaturated solution is prepared.

Give difference between Dilute and Concentrated Solutign Z @

Write two examples of gas into gas soiution.
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Answer briefly any Five parts from the fol ogv@s:- 5x2=10 - S7fclz2 L2 8 e §feet fitw -4

Define oxidation.

Find out the oxidation number of chlori Clo,
Define Electroplating. Give its use.
What is Galvanic Cell. Give its example.
Write two uses of magnesium.

Why platinum is used for making Jewelry.

Give chemical reaction of methane with cholrine in bright light.

What do you mean by 24 carat gold?

Part 11

Note: Attempt any Two questions. :
Discuss results concluded from the Rutherford's Atomic Mode!. / 5
Define a molecule and explain homoatomic molecules / 4
and hetroatomic molecules with examples.
What do you know about ionic compounds and write / S
their important properties.
Define vapour pressure and expiain different factors on / 4
which it depends.
What is electrolysis. Explain the electrolysis of water. / 5
Write four characteristics of solution. /
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